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LK RE”

KEYWARM
MERsS
JHEIIN: 10/20/30kW
KE: 3.2/6.0/8.8m
RS KRS (2kPa) ZHiRMHS (2.8kPa)
JRESTE: PAMERIERE
<EBJE: 220V/50Hz, 24VEKIEHIE, BIER
3.7A, Z1TEEIR0.5A
\ J
BASH ]
ie= RSP KK K KE BEE TREE
LTSO-10 NG(LPG) 10kW 7kW 3.2m 34kg 2.4-3.9m
LTSO-20 NG(LPG) 20kW 14kW 6.0m 57kg 2.4-3.9m
LTSO-30 NG(LPG) 30kW 21kW 8.8m 80kg 2.7-4.2m

E RESEKECAM, REFEKE2.8m,
TOkWEKE=0.4+2.8=3.2m; 20kWHKE=0.4+2.8x2=6.0m; 30kW{E=0.4+2.8x3=8.8m

SAURYHNRNMES (8 {mm)

it E=] A B C D E F G H
LTSO-10 102 1143 457 102 965 102 1020 330
LTSO-20 102 1473 660 102 1270 102 1473 330
LTSO-30 102 1575 711 102 1473 102 1702 330

KR 30° Rtz 4
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